AREA AND CIRCUMFERENCE OF CIRCLES
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image6.png
Disgram NOT
accurely drave,

Jon has  fower gaden i the shape ofacrcle.
The diamecrof the garden s S metres.

Jon wanis 1 pu encing around the edge of the garden.
The fencing cots £1.80 per metre.

Wk out the sl costof the fencing.

(Total for Question 5 is 3 marks)
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8. The diagram shows a CD.
The CD i 3 el of radins 6 cm.

Disgram NOT
accuracly dravn

(@) Work out the cireumfrnce of the CD.

D of s saear cut fom recangulrshets ofplasic.
Eachshect s 1 mete long a0d 50 e wide

() Work outthe greses number of CD that ca be cut o one rectangulrshe.





image8.png
Disgram NOT
accuraly drave

Therains ofa il 10 .
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7. Ackle has 2 diametrof 12,

Disgram NOT
accuaely drawn

Work cu h irumferenceof e circe.
Give youranswer crrct o 3 sigificant s,
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.

A el has 3 radi of Sem.

Wosk ot te sres of the circle
Give yous s comect to 3 significant igures.

‘Diagram NOT
accurtely v
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% The diagram shows & cirdla, cenkre O.
Ponis A B and.

i onthecircumferance f the cicle.

Line DAE s  angen 0 the circe.
Angle CAE - 32

Notto scale

—omie]
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8 A,B, Cand D are points on the circumference of a circle, centre O.

7N\

2

 and CD = 6.4cm.
BD s a diamater of the circl.

Caleuiate the area of the circl.

om? [5]
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16 A, B, Cand D are points on the circumference of a circle, centre O.

Not to scale

Angle BAD = 52°.

(a) Work out angle x.
Give a reason for your answer.

° reason

(b) Work out angle y.
Give a reason for your answer.

y=. ° reason
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12 Three identical smallcircles are drawn inside one large circle, as shown in the diagram.
“The centres o the small cicies e on the dameterof the large circle.

Find th facionof the arge cice that s shaded.
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12

2 @

Two wire shapes make an earring.
The shapes are
a dircle with radius 21 mm
and
aquarter circle.

radius of circle  radius of quarter circle =

‘Show that the radius of the quarter circle s 6 mm

Not drawn
accurately

1 mark]
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12 (b)  Work out the total length of the wire in the earring.

Give your answer in theform a7t + b where a and b are integers.
[4marks]
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21 (a)  Aand Bare points on acircle.

PA and PB are tangents.
a Not drawn
accurately
P
B
Work out the size of angle APB.
[2 marks]
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21 (b)  C,Dand E are points on a diferent circle.

Not drawn
accurately

Is X the centre of the circle?
Tick a box.

Yes No

‘Show working to support your answer.
[2 marks]
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Work out the arc length, in metres, of a semicircle of radius 6 metres.

Circle your answer.
[1 mark]

3 23 127 1870
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A shaded semicircle is inside a circle as shown.

Not drawn
accurately
/mcm
—8om—
‘The radius of the cirle is 10 cm
The diameter of the semicircle is 8 cm
How many times bigger s the unshaded area than the shaded area?
[4 marks]
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P, Q. Rand S are points on a circle.
PXR and QXS are straight lines.
Px=sx

Prove that QS s not a diameter o the circle.
[4 marks]
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Acircle has circumference C and diameter d.

the constant k represent?
[1 mark]
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18 Here is a tunnel for a toy train.

‘The diagram below shows the cross section of the tunnel.

P Not drawn
accurately

A \

\ |
LN L,
sam 3am
— o — s

BCis a semicircular arc of radius 7 cm
‘The length of the tunnel is 30 cm

Work out the total area of all six faces of the tunnel,

Give your answer in terms of 7.
15 marks]
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Here is a circle.

Circle the word that describes the shaded part.
[1 mark]

segment chord sector arc
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227 where ris the radus

Volume of a sphere = &

Acontainer

hemisphere of radius 30 cm

Sand il the continer at a rateof 4000 o per minute.

Does it take less than a quarter of an hour to fill the container?

You must show your working.
[3 marks]
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12

/A, B, C, D, Eand F are points on a circle.

ac

Not drawn

[1 mark]
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21

A, Band Care points on a circle.
« BChbisects angle ABQ.
+ PBQis atangentto the circle.

Not drawn
accurately

Angle CBQ=x
Prove that AC = BC

[3 marks]
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22 The diagram shows to shaded shapes, A and B.

‘Shape A i formed by removing a sctor of a circl with radius (3x ~ 1)cm from a sectar
of the crcle with radius (5~ Dem.
Shape B s  crcl of dameter (2~ M)em.

Q-2em

em,

"2

‘The area of shape A is equal tothe area of shape B.

Find the value of .
You must show all your working.
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(Total for Question 22 is § marks)
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T1 The diagramm shores the top of Levis briaday cake.

DiagimNoT
sccmaly v
2imcnes

o op of e caks s he sape o cicle.
o e of h ccle 7 .

Anthon s going o beput round e side o e o
ibons s sl 50 e

Labi2sian

Wk ou if e lengh of ion s eng enough t 20 all e way aownd e cale.
Vou st shoeyour wrking

(Total for Question 11 is 4 maris)
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4 Hereisacirle

Disgram NoT
sccurtaly dsavn

The iemetr f e cxce 529 .

ok out e circnfeence o s cice.
Giveyour aserer comect 1o 3 igificen: s,

(Total for Question 4is 2 marks)
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12 A cirle has  diameter of 140 cm.

‘Work out thecrcumfrenceof te cice.
Giveyour answer comect 03 significas igurs.

(Total for Question 12 is 2 marks)





